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Logistic(0.5 * 2 + 1.5 * -1) = Logistic(-0.5) = 0.378	
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Logistic(-1 * 2 + -2 * -1) = Logistic(0) = 0.5	
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Logistic(1 * 0.378 + 3 * 0.5) = Logistic(1.878) = 0.867	
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Logistic(-1 * 0.378 + -4 * 0.5) = Logistic(-2.378) = 0.085	



0.5	



0.867	



0.085	



propaga'on	
  avant	
  

●  Exemple:	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  	
  x = [2,�1] y = 1



Exemple 

Hugo	
  Larochelle	
  et	
  Froduald	
  Kabanza	
  7	
  

1	



-3	



1	


-1	



3	


-4	



0.5	


-1	



1.5	


-2	



0.378	

2	



-1	



Logistic(1 * 0.867 + -3 * 0.085) = Logistic(0.612) = 0.648	
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Δ = 0.867 * (1-0.867) * 1 * 0.352 = 0.041	
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Δ = 0.085 * (1-0.085) * -3 * 0.352 = -0.082	



0.5	



0.867	



0.085	



0.648	



Δ = 0.352	
  

Δ = 0.041	
  

Δ = -0.082	
  

rétropropaga'on	
  

●  Exemple:	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  	
  x = [2,�1] y = 1



Exemple 

Hugo	
  Larochelle	
  et	
  Froduald	
  Kabanza	
  13	
  

1	



-3	



1	


-1	



3	


-4	



0.5	


-1	



1.5	


-2	



0.378	

2	



-1	



Δ = 0.378 * (1-0.378) * (1 * 0.041 + -1 * -0.082) = 0.029	
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Δ = 0.5 * (1-0.5) * (3 * 0.041 + -4 * -0.082) = 0.113	
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mise	
  à	
  jour	
  (α=0.1)	
  
w1,3 ←	
  0.5 + 0.1 * 2 * 0.029 = 0.506 	


w1,4 ←	
  -1 + 0.1 * 2 * 0.113 = -0.977	


w2,3 ←	
  1.5 + 0.1 * -1 * 0.029 = 1.497	


w2,4 ←	
  -2 + 0.1 * -1 * 0.113 = -2.011	



w3,5 ←	
  1 + 0.1 * 0.378 * 0.041 = 1.002	


w3,6 ←	
  -1 + 0.1 * 0.378 * -0.082	
  = -1.003	


w4,5 ←	
  3 + 0.1 * 0.5 * 0.041 = 3.002	


w4,6 ←	
  -4 + 0.1 * 0.5 * -0.082	
  = -4.004	



w5,7 ←	
  1 + 0.1 * 0.867 * 0.352 = 1.031	


w6,7 ←	
  -3 + 0.1 * 0.085 * 0.352 = -2.997	



●  Exemple:	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  	
  x = [2,�1] y = 1


